




2 FeO + 1/2O2 --------- Fe2O3

FeO/Fe2O3 = 1,5- 6,0



Fe  + O2---FeO

Fe + SO3-----FeO+SO2 - мошка

3 Fe+ SO4
-2+2FeO  --- FeS+SO2 –

окраска, мошка



селитра

2NaNO3---- Na2O  + 2NO2  +1/2O2       450оС

сульфат 870  -1370 оС

Na2SO4----- Na2O  + SO2  +1/2O2

диоксид СеО2 900-1400оС

2CеO2  ----Ce2O3 +1/2O2

поддержание окислительной атмосферы 

С + 2СО +3О2---------- 3СО2+1/2О2 α больше 1

Что  происходит

FeS+ O2---- FeO +SO2+O2---- -Fe2O3+SO3



Ме +  S -2 --- МеS

MeS+SO2 + O2---MeO + SO3 Где Ме - Fe,Ni, Cr и др.

Ni  +S-2--------- NiS+SО2 + O2------- NiO +SO3




